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APPLIED INSTRUMENTATION

friia aw - iAW) (STt 3 : 70
Time allowed : Three Hours] [Maximum Marks : 70
A () FYH T G 8, 95 4 @ 8T IR & I G |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(i) G T F G} 5T F FHAR T T & B |
Solve all parts of a question consecutively together.
(iii) W% 5 ) 79 78 8 S FHiford |
Start each question on fresh page.
(iv) aﬁwﬁﬁwaﬁﬁﬁﬂﬁmws&m?:
Only English version is valid in case of difference in both the languages.

(1) o frega g% o 39 Hia g2

(a) FFEm (b)
(c) hiFa d) ==
The source of energy of thermal power plant is
(a) Uranium (b) Water
(¢) Coal (d) Diesel

) W &) fet fare e gra = S 2 7

(a) ABTER (b) =RH
(c) FefiEm (d) FEA-E
Which material is used for making moderator ?
(a) Graphite (b) Boron
(¢) Cadmium (d) Carbon-steel

(3) it e § W e sl o, g R 7

(a) 10%® 20 FR.d.wm. (b) 100 ¥ 200 L. 9. TH.
(c) 192 mdium. (d) Iulie H & IS A&
In cement plant the klin rotates at which speed ?

(a) 10to 20 rpm (b) 100 to 200 rpm

(¢) 1to2rpm (d) None of above
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iz # frcan =41 Ty st 2 2

(a) Hiiie $t FH3wa & ferg (b) e %t Jedt 99 & fag
(¢ HRHTITR SN (@) e dThIH F fa
Why gypsum is added in cement ?

(a) To provide strength to cement

(b) To set the cement early

(¢) Delaying the setting of cement

(d) To reduce the moisture in cement.

paefra wifd e i P g Fabe g & T T R 2

(a) A (b) W=

() &= d) UwEE

Which material is used for making control rods in nuclear power plant ?
(a) Carbon (b) Boron

(c) Steel (d) Graphite

Trarafie Wi 7 e Bl | e g 2 7

(a) dm fREw (b) o frEw

(c) @ agE P (d) I9tie ° | HIS el

Which type of control used in chemical reactor ?
(a) Temperature control

(b) Pressure control

(¢) Temperature & Pressure control

(d) None of above

il s, A THH e 7

(a) T ST IHH (b) TIHSHNE ¢ Yheh .
(c) Tt = d) B THS

Which of the following is batch dryer ?

(a) Hot cylinder dryer (b) Atmospheric tray dryer
(¢) Rotary dryer (d) Spray dryer

T e I & 3 Aol & e i gl At R

(a) 2T (b) 3T

(c) 4wqum. (d) S5UH.H.

The distance between the two cylinders in hot cylinder dryer is
(a) 2mm (b) 3mm

(¢) 4mm (d) Smm
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(9) ufiin 34 %1 35w a2

(a) UTEY AT TEA A (b) U =g H

(c) UFi S EHH (d) wufE g d
Pumping traps are used for

(a) laying of pipe line (b) lifting of water

(c) removing of water (d) removing of condensate

(10) i g HR T e Sam A wEfRa T 2 ?

(a) f& (b) @i e

(c) TR&A d) fawa

Which of the following is not related to cement industry ?
(a) Klin (b) Ball mill

(¢) Generator (d) Mixer

(11) {&mmtmmﬁaﬁgi

(a) NH,CO,NH, (b) NH,CONH,
(c) NaNO,; (d) NaHSO,
The chemical formula of Urea is

(a) NH,CO,NH, (b) NH,CONH,
(c) NaNO, (d) NaHSO,

(a) A (b) s

(c) Ffea AT () awHEH Y
Which of the following is not related to Urea Plant ?

(a) Coal (b) Ammonia

(c) Liquid Nitrogen (d) Atmospheric Air

(13) Hoe & 1 HE 8

(a) O T HTY ST (b) 9 I AT ST
(c) U1 ard EGH (d) I9E H | HI§ TE
Distillation column working is

(a) To convert water into steam

(b) To convert steam into water

(¢) To raise the temperature of water

(d) None of above

P.T.O.
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(14) ia I S Y@ F1 2

(@) T (b) AT
(c) Uffem (d) ot w+i
Main works in Glass industry is :

(a) Melting (b) Shaping
(¢) Annealing (d) Aboveall

(15) P d s @ ass A& 2 ?

(@) et fooem amors (b) & Zg AT
(c) Tarq e (d) e ogE dur arsTe
Which of the following is not an evaporator ?

(a) Falling film evaporator (b) Horizontal tube evaporator
(¢) Vaccum evaporator (d) Long tube vertical evaporator

(16) aToas # fara Haeue i 7 wfirer feman s @ 7

(a) TEIGEA (b) A=
(c) HTeThdl (d) dmEHEH
Which of the following parameters are not involved in evaporator ?

(a) Pressure & differential pressure

(b) Density
(¢) Conductivity

(d) Temperature

(17) T # 3 9w e fads @ 2 ?

(a) W9 AR (b) TaiEeR

(c) dH (d) TEEHS Wl
Which of the following is not a heat exchanger ?

(a) Steam heater (b) Reboiler

(¢) Vaporiser (d) Chemical reactors

(18) = 1 A &l & SR T 2 7

() o >HF (b) 5 S Uohb
) VTHH (d) It gt
Which of the following is continuous dryer ?

(a) Turbo dryer (b) Fluid bed dryer

(c) Spray dryer (d) All of above
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(19) W aiaer # fore webr &1 i Afsat Hm @R ?

(a) TS A () fe-z=za

) Fa-3=ma (d) ITed H F IS T

Which type of control mostly used in steam boiler ?

(a) Single element (b) Two element

(¢) Three element (d) None of above
(20) T Iepep H vard ) gEM &g FW A 31T

(a) WM (b) T om

(c) THE (@

Which is used for drying the material in rotary dryer ?

(a) Steam (b) Hot smoke

(c) Hotair (d) Hot water
@21) o7 1 2Ed qGH % 70 B T TSI I H 8 7

(a) ekl YWTE ITIH (b) g wwra amoTh

(c) Wg-YWE ATTH (d) Iote | E HIE @

Which type of evaporator is used for increasing efficiency of evaporator ?
(a) Single effect evaporator (b) Double effect evaporator
(c) Multiple effect evaporator (d) None of above

(22) HUT I e e e fer S @ 7

(@) WS (b) T

(c) Hhe Tl (d) It adft

Which pulp is used in paper industry ?

(a) Sodapulp (b) Sulfite pulp

(c) Sulfate pulp (d) All of above
(23) e a SR e AE R ?

(a) TGS (b) hEH

() TR (d) TFE

Which of the following is not a form of Sugar ?

(a) Cellulose (b) Fructose

(¢) Glucose (d) Sucrose

(24) <t el 1 e AT Bl R

(@) T (b) T

(c) W (d) ¥ TR
The raw material of sugar industry is

(a) Sugar cane (b)y Milk

(c) Fruit (d) Brown sugar

350
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(25) <R UTg o T

(a) WHeEE (b) BHEE

(c) Femimse (d) It aft
Ores of Iron metal is

(a) Magnetite (b) Hematite

(¢) Limonite (d) All of the above

(26) e I &1 F=1 I a2

(@) a/fufas (b) ©TEH

(c) TeEIT@ - (d) ot afi
The raw material of glass industry is

(a) Sand/Silica (b) Lime

(¢) Sodaash (d) All of the above

@7 sifem frao siaga g 2

(a) FF= (b)
(c) i ared (@ fEr
Final control element is

(a) Controller (b) Pump
(¢) Control valve (d) Mixer

(28) dFf F Haa AR 2

(a) WA (b) EEGNA
(c) wifezm (d) e
Which element is not present in sugar ?

(a) Carbon (b) Hydrogen
(¢) Sodium (d) Oxygen

(29) T & JaTe farg H Fvag g1 R
(a) < 4G L IaTe fareg el 2 |
(b) T HeH W IaTe fag wea @ |
(c) o ugR W I fagwgai? |
(d) A |
The relation between pressure and boiling point.
(a) On increase of pressure the boiling point reduces.
(b) On decrease of pressure the boiling point increase.

(c) On increase of pressure the boiling point increase.
(d) None of these
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(30) wad T g Iearea form Ha gr gl 2
(@ v forga == (b)y g ferga 9=
() garehia forga @ (d) s N g
Which power plant produces cheapest electricity ?
(a) Hydro Power Plant (b) Thermal Power Plant
(¢) Nuclear Power Plant (d) Combined Gas Power Plant (1x30)
fory =) wEi | weTE
Explain the following in brief :
(i) s e I % Am fafed |

Write the names of any two iron ores.

(i) bre-wraE FEEn

Feed forward control

(iii) w1 Yaers Hiar

Cooling tower

(iv) aﬁmdﬁaﬁmﬁtm%mﬁf@ﬁl

v)

Write the names of raw materials used in urea plant.
fafir= arferEt & m fafied

Write the names of various evaporators. (2x5)

ardra faega wifda 3= wt i faf 1 == it i TEEar & FHeTE |

Explain the thermal process of electric power generation with neat sketch. (10)

®

(i1)

(i)

(i)

ot T frugrex 3 U e 3 AT T P i S aeE |

Explain the circuit of temperature control in chemical reactor with cascade and
recirculation.

%&ﬁmﬁmﬂqmﬁmmmfaﬁmaﬁiwmm

Explain the working of continuous control of pressure in any chemical reactor
with diagram. (5+5)

&4 Feige e Y ) wrifafy At EEEd |
Explain the working of batch fluid bed dryer with neat sketch.

By i ety o | T $if |
Explain the working of spray dryer with neat diagram. (5+5)

P.T.O.
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7.
(i1)
8. ()
(i1)

(80f8)
maﬁuaﬁamﬁaméﬁm@w&ﬁﬁm@i
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Explain the construction and working of forced circulation evaporator with neat

diagram.
aifet i e a6y FEETE
Explain the effect of the following on evaporators :
(a) <&
Differential pressure
(b) HTETHdl
Conductivity

ferfn ud ufiim 3 6 sty &1 afe 9o Hifa |
Explain the working of lifting and pumping trap with suitable diagram.
G it Frt Frvit @ afer ot il |
Draw and explain the following controls in condensers :
(a)
Temperature control
(b) @

Pressure control

wm%m-mmmm?ﬂaﬁﬁamm |

Draw and explain the temperature-flow cascade loop on steam re-boiler.

et fareet et afom 1 g vl Hif |

Explain the working of falling film vertical evaporator with neat sketch.

o e st ot fafd (P D)
Write the short notes on : (any two)

(@)

(i)

AR ST 24

Continuous drainer trap

HITS I
Paper industry

(iii) Iz e By g wE & o e

Reactor pressure control by throttling flow of vent gas.

®)

(2Yi+2%)

(&)

(2%4+2%)

(5+5)



